0l.

02.

03.

04.

0S.

06.

07.

08.

09.

X A9 (9 @ A G [2 ;x e x] L v FFSEFR (singular) @HH 2037

10 —
(a) —15 '@ —3 (b) =15 8 3 (c) 15 @ —3 (d)1385 (e) 158 3
A 2—X 13 . 2—X 13 | _ _ .
IT: (c); det | : ID—xD =0 | s 0o =0= X —12x—45=0=x=15-3
f:R = R FIED f(x) = x? — 1 9141 A<= e £-1(—8,8) GF W 6 I?
(a) {—4,4} (b) {—3,3) (€) {=2,2} (d) (1,1} (e) (—2v2,2v2}

TE: (b); f(x) =x* —1=2x=+/1+fx) =2 (y)=+/1+y

) = +V1+x = f1(8) = {3,-3} [f~1(-8) TWwEli®]

TARNGRTE 9 AP 71 @Y ‘ADMISSION’ %53 STraefe $© 727 B e i ?
(a) 90720 (b) 88600 (c) 86400 (d) 4320 (e) 360
TAYE: (c); ADMISSION - F93F - A, 11,0 = 4 letters

FRFGTAI B *13% FRCT6o1! T B AT 370 = 2 = 12
 FTRITGTAE G QU GG RAUT = 2 x 12 = 4320 - e Ry sieayt = - — 4320 = 86400
~625 99 594 T M6 ?

@70t MEZQLIED) @G @DEEG4) (@A)
A (e); X! = ~625 = x* = +251 ~x=1% [VZE+0+iV25— 0] = + = (1 £ i)

(x+§)E 97 fgfere x M it I F97?

(a) 1100 (b) 1120 (c) 1200 (d) 1220 (e) 1320
AAG: (b); T,y = °C, xB-T (5)r = BC x8"22F »8—2r=0=>r=4 ~T. = 5C, 2% = 1120

X

W X% + kx + 1 = 0 FAFAAT YeGCHT S X2 — 2x + 9 = 0 GF AR SIS T 20, ©7F k @7 T 362

(a) £3 (b) £ OFE () £ © +2
WW:(E);}{E—Z}E-FQ=Uﬂmmulﬁw’xz+h+l=oﬂmwmm mﬁ
at+pB=2, af =9, mla[3=1=;m=i§ "'k=—m(ﬂ+|3)=i§

2 4

3 3
Ifry = 1—x+%—%+---mtﬂﬁ'iz=—y—}; =% — L oo T O x GF T F?

(a) (1 +€?) (b) (1 +e7?) (c) In(1 + 32) (d) In (:153 (¢) In (1fe=)
W‘ﬂq: (e);y - E—x = 1 — EE — E"Ji = ,EF-' — 1—1E3
sx=In(Z5) =-y)=e?=1-y=y=1-¢]

A(2,1) 8 B(5,2) Re0@ FTaew @91t FTueaite AuRefes am aae @ria im0 -
(a)dx+2y =6 (b) 7x+ 3y =9 (c)9x+ 5y =11 (d)3x+y=12 (e) 3x+ 11y =15

TAA: (d); AB @3 Tf (2 ,2)

AB aawﬁlaﬁ.rqy—1=5(x—2)=y—1=§(x—2)=x—3y=—1
;. FTRRYCLIA T, 3x+y=3(§)+-z-=h3x+y=12

I BT (5,5) @ @ 2 e RfHE ren i @i ?

(a) r2 + 5v2(cos 8 + sinB)r+21 = 0 (b) r? —%(cnsﬂ +sin@)r—21 =0
(c)r? + 5v2(cos 0 +sinB)r—21 =0 (d) r? +%(EUSB +sin@)r+21=0

(e) r? — 5v2(cos 0 + sin®)r+ 21 = 0




S -;; ; @ : KUET, CUET, RUET & 8 FI{
= ; e o
FAY: (e); (x—Scus ) +(y 5sin— ) =22 = x*+y?+25—-5V2x—-5V2y =4
= r2 —5vV2r(cos0 +sin8) +21=0
10.  9(x—2)% 4 25(y — 3)? = 225 ToYrE @I 8 Yo ey «ifSe fagrem crawes Aitea @miG?
(a) 11 3 uTs (b) 12 T 9Ts (c) 13 3 uss (d) 14 3°f az (e) 15 Tf Wz

2 —23)2 —
T (b); 2 4 =1 o= (B2

25
ToIJLEA (TP (2 + 4,3) = Fy(6,3) 93 F,(—2,3) - A %€ OF,F, = % I—ﬁz g[ = 12 31 9T
11. 9= fAfaaa- 1t_(sinx)@"x

?I"‘—z"
@ )3 © -2 (@2 ©1
Y (€); ﬂﬁ y= Lt (sinx)tan* = Iny = Lt (tanx) In(sinx) = tﬂln[s:nx]
K*E 2 X=3 tanx
1
_ In(sinx) - 0 iz COSX _ o
:’ln}r— Ln‘ cotx [ ” IIE:l xl:..t.l_.[ —EDSEEEH -'--U' ny— 1
Tz 2
12. ﬂﬁ =m_x§q=_'ﬁx Y2 _’zxytﬂﬁﬂm@ﬁﬁ?
@ (Oy=2 (0) -1 ()0 )3

HAAY: (a); Xy = Inx = xy1+}r=i... ssises (1)
= x%y; +xy =1 & X%y, + 2xy; +xy; +y=0=>x?y, + 3xy, +y=0
=;:{23r2+3(%—y)+y=[}[frum(i)]=:~x3yz—2xy=—
13. sinx =7 QAT y = sinx + cos 2x FILFHT GFAA FAB?
(a) =2 (b) 0 ()1 @3 ©%
e 1 L5 1 1\2
Wﬂﬁ.(d),y—51nx+c052}:—;+1—25m x—;+1—2(:) =

| o

4. y* =&Y A L qF WA @AD?
@51 +ny)  O0-hy) ©S0+hy) @50-ly) (;50ny-1)
ANYE: (d); y* = e*Y =2 xlny=x+y -

dy_l—lny_i L
ydx+]ny_1+ X ax F—R 1 _x—f(l Iny)

15. j1 dx 939 &FHG?
X

x+2 K+E Xx-2

(a)x+ ln S| ¢ (b)x+-ln -]n ~ Bl (e)x+ E-H:
—4+3
MRICICH (I:;),,_f:“:2 dx f ——, dx= ,l'ch-:+3f:|{z__4 x+—ln —|+c
Z sin 20
?
16. [} —oroogd® 9ITH PMHD
2T 3n T m T
(a) — (b) = (c) 3 _ (d) 3 ()3
= sin 28
TG (d); [ gy omig L;t, z=tan0, dt = sec’6d6
T Z
— 2sinBcosH
ﬂ+ sin* 6+cos* 0 db 0 0
_J-‘ztanﬂseczﬂda E 1 -
031 Let, z2 = x, 2zdz = dx
= 2',‘1+z“' dz Z X
— (1_dx 0 0
Y0 14x2 : 1 1
= tan™"(x) |3

I




17.

18.

19.

20.

21.

22.

g s =
; n }} b KUET, CUET, RUET 2 3 T

sin(m cos 0) = cos(msin 0) IF 0 I T @F@"”

n -1(_1_ x -1 (L) Xigin-1(-Ll
(a) + = ;T cos (2 ﬁ) (b) + + cos (2 5, (c) & ~+ sin (E ﬁ)
T +sin1(X -1 (_1.)
(d) £ +sin (zﬁ) (e) + = s teos™H (=

HAATLE: (a); sin(m cos 8) = cos(msinB) = sin(m cosB) = sin (— + 1 sin Ei) = mcosb = E + msin®

1,1 1 1 — 4T -1(_1
=:>cusE!+smE!—2=> cusB smﬂ- =:rcus(9+4) ==r{-]_i4+cns (r)

V2 -2 2v2 2v2
::::_«/" tﬂaﬂt““"—x/_w X @92 y G99 T @02
(): lE (b); 'E (C)"E J_E ( );:E (E) =T,
sinx COS X cosx _ V2 _ coséx _ 2 _
=:#sin_',r_ S(cnsy)=cns;,r_ﬁ=:’cnszy_3=>3cns X =2cos"y

= 3 —3sin’x =2 —2sin’y = 3sin?x — 2sin?y = 1......... (i)
7, X = 2 = sin?x — 2sin?y = 0 ....... ... ii)

" siny
(1) 8 (ii) ATYH I 13, x"— , y—E
ABC farptsi W a = 3,b = Sw(_tﬂ?hA =30° A ST B 8 C G99 A FF6?
(a) 45°,30° (b) 30°, 40° (c) 20°,45° (d) 10°, 70° (e) 30°,90°

b — cin—1(bSINAY . _4 /3V3xsin30%\

AAIYIF: (No correct answer); T B = sin (—ﬂ—-) = sin ( - ) = 60°
~» C=180° — (A + B) = 180° — (30° + 60°) = 90°
P, QR f&A(b 3% ABC fargter wwta 4 | f[I9Ts I 1A, 1B, IC Gl IR 50 I FAINIIRBIT SR SIRC P:Q:R
G3 TN F© 37

(a) cos 2A:cos 2B :cos 2C (b) cosA:cosB:cosC (c) cus%:cngg:cnsg
(d)sinA:sinB:sinC (e) sin%:sing:sing—'
A
A oAy A, Q _ R 1P
TN (E) @‘P'[ sin LEIE sincCIA  sinzAIB Q
B RN\
P — Q —_— R ey 0 l L] —— 0 l - — 0 .1

= sin(gﬂ°+%) sin(gu°+§ sln(':‘m“é) | £BIC = 90° + EA, £LAIB = 90° + = C; «CIA=90°+ 2B _

A B C
= P:Q:R = COS 1 C0SZ:COS>

12 fBm tTa AN @36 A AB 97 €& 50 (Ffe, T A @ B @IS TAGC 15 e @ 35 @ @&m 3| A
mmwmﬁqmwmwaﬂwwmﬁvﬁ@ﬂmv

13

(a) 5 fBE (b) = fittrR (c) 6 B (d)= (e) 7 o
A (d);
X __1R
A B
T
35
50

R =50+ 15+ 35 = 100

A ReUs STl T GIGrS AT 1R, 100x— 50 X 6 =35 X 12= 0 —» x = =2

43> RGE 20 FoR 79 @36 77 & (TIre conew ARy zre 3 bRy eiee? gaedt 3wzl orois eitere
A 13 f0R / (I8 AN (MIGITS AT FOT 17 432 6 9 Py et SR w0s [w?

(a) 15 GTIFG ¢ 150 o, (b) 20 GTtF=© @ 200 fiGE (c) 10 (TtF=% 8 150 o™
(d) 10 GTtE<S ¢ 200 fiGE (e) 20 GTIF=S 8 150 fiGE

HATYH: (¢); 2[]+13!:=::_;>-<3:nct2 =:~t=1l]s,-—-:-s [SARACA] ~ t = 10s -~ 9 = 20 + 13 X 10 = 150m

Y I 4 T \phad,




24,

25.

26.

27.

28.

KUET, CUET, RUET ¥ 3 JN14d

4 Y SEF 9T I8 6 fIo T g+ o «ifee Tw s 5 G mm_mﬁamw|—qﬁa%ﬂawm
g AT ¥97?
(a) 18.973N (b) 9.486N (c) 4.7432N (d) 2.3716N (e) 1.1856N

ITAA: (c); mg(h +x) = Fx = F = 262 = 4.7432N
T @ 9T ~RF 9T QA ALF @ FA S -, WIF 8 TGS Tow [ AP R TS =
a2 7f5 Rt @1 G2 BTs «i 9 TRIT! 2 W, O & QI RIS #A1 I HBRIS] 87

(a) 2 (b) 2 (©) 4 (= (€)

8

WW:(G);P(M)=1—1=E'MHE=E P(MuE)=E
Now, P(M U E) = P(M) + P(E) — P(M N E) = P(E) = P(M UE) — P(M)+P(MnE)_——-+-=19

40

qFG PR 40 OIFT @& W ot @32 120 B i wea S e ciiew S aote it i =
I (6 120 Ffer TFo1 AT A1t | OF I ot [ v 2fs @re 16 5 W32 S [#fs o afs
(&S 32 B 1S FACS ~A1Ca | I fSF T 12000 Bt R 3908 “IIEw, OIE @ 26 F6 T© (@G
fFate foff e are Fa0e AR ?

(a) 120 &f& cowma (b) 120 (& ST
(c) 30 S ST @ 90 (FfET Co=T (d) 90 & W27 8 30 & o=
(e) 60 (T HTAT @ 60 S ot
Y. (d); x,y =2 0;x+y =120 .........(I); 40x+ 120y < 12000 ......... (i) ; z= 16x+ 32y
Y

N

(0,120)
(ﬂ,mmw
X' €

0(0,0)] D(120,0) {300,0)”{
b

YI
C(30,90) 9T &, z = 16 X 30 + 32 X 90 = 3360
D(120,0) 93 &, z = 120 X 16 = 1920 )

VLR Gl VWV L

IR P = 2i + 4] — 5k W3 Q = =1 4 2] + 3k T P ¥z Q U7 YS! (I FS?

(a) 111.01° (b) 110.49° (c) 101.49° (d) 69° (e) 68.98°

_PQ _ -9 .0 — -1{_ = _
FAYA: (a); 0SB = i = 7= 0= COS (m —) = 111.01°
50gm % A2 3G IWEF 3m AN YO AR VIR #tA A R | IFL 5 Ees 20 6 71 wrada ==
TSI B F97?
(a) 0.947N (b) 9.47N (c) 20N (d) 50N (e) 94.75N

2

ANYE: (e); T = mw?r = 50 X 10~3 x (2“"‘2“) x 3 = 94.75N

930 78 %3 599w fee71 16N 99 90 9 93 TR 5 G 417 IS IE G2 S A (@I IS 99 =111 I80
a9 *[4 6 CTLICS 52 forE Ay oF | 3807 o 397

(a) 3.0769kg (b) 9.023kg (c) 9.23kg (d) 10kg (e) 11.076kg
52
ey =92 -1 ,_Vvu_ g0 s2 5, F_ 16x30 _
FITITW.(E),v—Ems ya=——=S—=2msTt am=—=— = 9,23kg




3fefonfaie 3Bz epgame ‘ @ é KUET, CUET, RUET &5 8 I

29. 20000 kg ®w=F @b M fEAT FAST S60H. B, ¢ FIAFS! 80%, NGB &7 <81 (@ 25ms-! @ WS
TTOT TS ATY FHTE? [1 H. P = 0.746 KW]
(a) 3.74 sec. (b) 6 sec. (c) 18 sec. (d) 37.4 sec. (e) 374 sec.
FAALE: (c); FoI1e = sifoxifEa vfaqda =

imvz = 0.8 X 560 X 746t = :j__- X 20000 X 252 = 0.8 X 560 X 746t = t = 18.7

30. e RS SIS TEFIA @ FEAE A @ 0.02ms ! | BT 8™ Smm 2o I e w97

(a) 1.26 sec. (b) 1.36 sec. (c) 1.48 sec. (d) 1.52:sec. (e) 1.57 sec.
_ 0.02 0.02 2m 2m _ 2m
AN (€); Vipax = A = 0.02 2 w = A Ex1g3 =4; m—T#T—mh*—LS?s
3. T TS 1000km Sxre SfSader Gauea W w97 [4fA%7 14 = 6400 km]
(a) 3.8ms 2 (b) 7.33ms 2 (c) 8.1ms2 (d) 9.8ms ™2 (e) 13.1ms™?
. . __ R? _ (6.4:-:1{1'5]2 _ -2
STATT: (b); gn = (R+h)? XB=8h = (R+h)? X8 = (6.4x105+1x108)2 X 9.8 = 7.33ms
32. 9 WG T (A ¢ 9 GBS Siqer etew IF 93 dB W2 85 dB | QT SRR M Srgel
(CTTeH 97
(a) 92.82 dB (b) 93 dB (c)93.33dB (d) 93.64 dB (e) 9441 dB

A (d); 93 = 10 log (- )=-.=1 = 10%%l; ; 85 = 101log (2 )=.-.~12_1c:“51.J

sl=1 + 1 =1,(10%3 + 108%); B = IDlugl—- = 93.64 dB

33.  5m A97 €32 1 mm I R B 100 kg 7 519i1te1 077 0.3mm 71 =371 SrafSa Ak e s T2
(a) 0.0147 | (b) 0.03 | (c) 0.147 ] (d)5] (e) 100 ]
TALH: (c); W = - Fx = ~mgx = ~X 100 X 9.8 x 0.3 x 10~* = 0,147 ]

34. TS IR SIHTS W N I 3G T —100°C Srofara RGOSR ¥ IR IsTarer Wi

A?
(a) —100°C (b) 0°C (c) 273°C (d) 2495°C (e) 2768°C
A (d); Co, =Ty = "= 3“’;”3 = T =222 _ 2768K = 2495°C _

35.  30°C SN e ©Itad @14 10001 75°C SINQAR T& SiEd @Y 9 A1eq! qE? [[FteeT ©Id @y 7=
6 x 1073 /°C]
(a) 117.390Q (b) 1200 (c) 122.880Q (d) 124.20 (e) 13000
AL (¢); R3g = Rg(1+ ax30) =R, = R30 = 84.7461) ‘

1+6x1073x30

R,s = Ro(1+ a x 75) = 122.880

36.  0.15gm SwFF Q0 IR T —6.68 X 107°C YN FSAT WTR 1 +6.54 X 10~-2C L TF 9T ¥ F© 8
QITF CIIETTH I70F 00 {93 SR AT #ma?
(a) 2.0 cm (b) 1.64 cm (c) 1.58 cm (d) 1.5 cm (e) 1.48 cm

HAAYE: (b); Lz _ mg = 9 X 10° x (6.68x10~%)(6.54x10?)

41'1.*E.} x? x%
= x = 1.64 X 107*m = 1.64cm
37.100°C ©"@R 1 kg “fAtF 0°C SINI@R IJ0E e Fare @GR ARasT F© A? [49F e e
I = 336000 Jkg ™! 93 #AIf~ SCAFF O = 4200 Jkg~1K 1]
(a) —2541.6 JK™*  (b) —1310.85]K™! (c) ~1230.77JK™! (d)1230.77JK~!  (e) 2541.6]K~"

FAILE: (a); As = msIn ?3—-"“ ~2541.6 JK~2

R | | T

= (0.15%x 1073 x 9.8




Va0 S

38, 127°C SO (1 e ARMm 2707 291% o T - SHen 1S F0 | SN AR F9? [y = 1.40]
(a) 620.74°C (b) 347.74°C (c) 220.74°C (d) 127°C (e) —45°C

. oY=l _ mogy-1 _(vi\"! _ 2l4-1 _
T (0); LV P =TV s T, = (v—) x T, = 314-1 x 400 = 620.74K

.

#AT =T, — T, = 220.74°C
39. O35 Wapfes BB 220 (S5 IR 3T (ACF 255 mA Rpe oz o= BB 700 w061 I92@ T T S

BIEEIS K
(a) 3.9 kWh (b) 4 kWh (c) 26.4 kWh (d) 38.5 kWh (e) 39.27 kWh
STAIY: (e); E = P(in watt)xt(inhr) _ VIt _ 220%255%10™3x700 — 39.27 kWh

1000 1000 1000 ,
40. T CFL@ x WF G 3 uC WYAT GFB IF 2 X 108ms™! @ 5o O1FF ¢Fa B = (0.20] — 0.40k)T =
ST & e olgs 39 $97 |
(a) (1.2k+ 24))N  (b) (0.8k—1.6))N (c) (—1.2k+ 2.4))N (d) (0.8k + 1.6]))N (e) (—1.2 —2.4))N
ANLE: (a); V = (2 X IUET)mS'I , B= (D.Zf— 0.4E)T, q=3uc - F = q@: X ﬁ) = (2_4-].~ + 1.21::)1\1
41, (I TS 4 EIC T Ofbe 2917 1A (AF 10A 97 ST 26T vt @ Foaire 120V Sfewes =&
ifa® | FoAT TIT I SAF F©7? -
(a) 120H (b) 53.3H (c) 25H (d) 5.33H (e) 0.533H
TAE: (b); € = L& = 120 = L=~ = L =53.3H |
42. 3T q7 fa-oq A e F0F 2 6.2 X 1014 Hz | #P{R[S! 4o (SRE @rad I4e! =g 0.72 mm | *WIfG Tfw
1.6m V(R S Sz fox 7ioa 94798t g 97

(a) 0.49 mm (b) 0.514 mm (c) 0.538 mm (d) 0.62 mm (e¢) 0.54 mm
. L 3x10% -7 __AD _AD _ 4.84x1077x1.6
A () A== ——2=484X107'm, x=—=a=—=———"—" = 0.538 mm

43, @M AfE SgfeFd TE Sfees 8 SfermEa @@ 18y 10cm € 15cm | I S (AT BT AT 7399
50 cm W 32 WSHE (ATE TAI ARSATHA 77§ 60cm 2, O & Tearee IeFd (e 97?

(a) 10 (b) 15 (c) 20 (d) 50 (e) 60
HATYIH: (c); St i=s u, = 12.5cm | vo = 50cm, f; = 10cm
up ve fo
W,u—1-+$=%=ﬁue=12cm | ve = —60cm, f, =15cm
e e e .
o _ | ve| _ 50 _ 60 _ »
..m—ml}dmz—un uE—ﬂ_E}(lz—fl-xS 20 v

44. @3B 4req P zre 737 TG FEfeE @ T7© A 3@ o7 #1dwy 0.96V 73|
(a) 8.21 X 105ms™! (b) 5.81 X 105ms~! (c)5.72 x 10°ms™! (d) 5.63 X 10°ms™! (e) 4.28 x 10°ms™*

TR (b); Vs = ~MVAiax = Vimax = 2¢%s — 581 x T05ms ™"

m

45 @fSTN 93 WEEIR[H 1620 291 T© TA 1 AW @CAT 1 GFoA™ @ #fF60s ZE?
(2) 4.28 X 10™*Y (b) 23.68Y (c) 1600 Y (d) 5380 Y (e) 10767 Y

f1

1 —_ In2 In2
100

= 10763 Y

2

46. @B TS 900 5w TR 1 7l w71 =W ~ifow i sifsHfe wnds st «fave =7, o S s F© 3?7
(a) 0.1°C (b) 0.53°C (c) 1°C (d) 1.05°C (e) 10.5°C
49%900 _ 4 gEoc

AT (d);%mgh = msAb = % X 9.8 X h = 4200(A8) = A8 = 4200

L (¢




Sfnfaie 35 epgames § Ny ? o KUET, CUET, RUET &3 8 NI4T

47.  OIEH SEARE! TRPIAAMNA BTG 4 WIS A @B &tz 0.9¢ @O AR 932 i SF1E | ©iF I35 O Ty
@« (R 9fkSTs ferem) w3 o v© 929 o5 237
(a) 4.4444 Y (b) 8.8888 Y (c)11.5Y (d) 20.3888 Y (€) 40.76 Y

FAEA: (c); “fFTS TAFS @I T WSS 7, t = 2 X — = H;Y

0.9
. SR QA &) SSINES 7T, t = ﬁ = 20.39Y - JAER 14w = (20.39 - =)Y =115y
oz
48. 0.5 x 1073m FNET G0 (T FIoAET AT TATA NETd W4T AT RN 6.753 X 10~3m A1 1064 0L
AT 0 (T F©7? [97F 5 B = 0.47 Nm™! 932 999 = 13.6 X 103kgm ™3]
(a) 103.85° (b) 106.69° (c) 118.6° (d) 120.6° (e) 125.6°
A (c); @M, h = —6.753 x 10™° ,r =05 %X 102m,p = 13.6 X 10*°kgm™3,g = 9.8ms 2, T = 0.47Nm™?
cos® = —EE = —0.4787 - 0 = cos~!(~0.4787) = 118.6°

49. 1m AN{ @32 1cm &¥ 8 500 A% (2 9 Swesm Froae T4 M 10A SR 277z 5arz | TTABEE 15T 93
TEIREF CHFLAe ANBAICT FI7W A A7 o7 fFamie 68 367
(a) 10 Nm (b) 15 Nm (c) 75 Nm (d) 500 Nm (¢) 750 Nm
AAMEH: (e); T = NIAB =500 X 10 X 1 X 0.01 X 15 = 750 Nm
50. G FCTH B-COIFSF O LT @ To7g oI AT 32.46 puT 92 48.27 T | @ FiEwd ffe 972
(a) 33.92° (b) 50°18.6' (c) 56.31° (d) 56°4.8' (e) 60°51’
TG (d); 0 = tan~ (s ) = 56°4.8

32.46

51. T SI°[@ 8 P BIT? V WMo G0 et Ausnmed wde V Swiera 991 9 s e i@ e <4 29 1=
STl @ 5191 2B ACOIR I T 8 P T SIS Sares V i i zee fineeers v1of oo 23?

(a) g (b) P2 (c) P (d) 2P (€) 4P
HWYE: (d); P'V = PV + PV = P’ = 2P
52. TIRHICNG fR-STAEE I5 AYZA 2AFHo ZeTl- i

(a) 51f6 JTgeny Cr — O 954 (b) R FgeT Cr — O IF4 8 GFG 0 — 0 IF
(c) =AM Fgeny Cr — O I59 8 GFL Cr — Cr I5 (d) =0 Cr — O T FAqgey 71
(e) BRI ATGe) Cr — O I 8 UF6 Cr — O — Cr 95
i i ‘
AATYH: (e); O — [}Ir— 0 - CI:Ir -0
0 0
53.  0°Cer#i@l 8 1.0 atm 5t CO, "I 99 (g/L GIF) F© Z(I?
(a) 0.019 (b) 0.196 (c)1.960 (d) 0.081 (e) 0.811
AAGA: (c); d = o = —22 1963 g/L

RT  0.0821x273

54. W0 AR AB = A* + B~ 32 AB + B~ = AB; 933 N B AIEE] 0ot S @A fiferar q'Ba sirmg
FIF P K @R K, 1 G0 [AT] 8 [AB7 ] S991® X(4-

(a) [B~] @3 FToNfow (b) [B~] 97 BTN (c) [B~] @7 Irsfa T
(d) [B7] @3 Ifa B ATSS (¢) [B~] 97 Som Msaiie

P __|a*](B7] - __ [AB3]
A (d); Ky = Bl ° 2 = [aBIB-]

Ki _ [A7] - [A*] _ Ky 1
K, [AB3] X [B7]* = [AB3] ~ K, [B-)?

~' 3w g
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55. D—HWW"@?BDW! ﬁrﬁaﬂmﬁ-

(a) 80 fFtemafa cifse = (b) 80 fFrarI=fa At =&

(c) 160 fFrmerEfa cifae = (d) 160 fFtarenafa Rsfe =@

(e) 320 fFtermEfa Refe =

T (d); 94 Tore =ife fFsfe =) g sere 9o 0 - Haﬁtﬂawcmﬁ(zxao) = 160 fFrarEEta [ =
56. RRAGITEH AANIYF TG NC6d RAFASTAT (781 Zel- [Ans: b]

()H+H - H,

(ii) HCl » H* + CI~
Gii)H+e - H"
IGIEH AN Soiea i i/ Rfearmz gaete [isas Tp?

(a) i, i (b) i, iii (c) i, i (d) i, ii, i (e) i

57. 50 mL,N/10 H,SO, ; 30 mL,N/3 HNO, @32 10 mL,N/2 HCl %3¢ fif¥r® 3= 16 S¥ew 1.0L 91 A | T3
T TS ZA? |
(a) N/20 (b) N/40 (c) N/50 (d) 14N/15 (e) N

AT (c); 50:><—+3Dx +1{]><——1000xx=:x—i

58. RCH,CH = CH, + ICl - [A] ﬁﬁmzrmwﬁw%am [A] =1
(a) RCH = CHCH,I (b) RCH,CHICH,Cl (c) RCH,Cl = CH, (d) RCH,CHCICH,I (e) RCHCICH,CH,]
A (d); RCH,CH = CH; + ICI - RCH,CH — (:1112 '
Cl j

FR9 Cl 7 Sfee FargFe @R 1+ 11

59. e, ¢_D—CH, Siamibe e Ot wite- [Ans: €]
(a) 6 6 p SRBIE @ 6 & @TETT G (b) 6 & p ==fGE @ 7 & @S =G
(c) 7 o p w=f<BE @ 6 b @reTs e (d) 7 6 p wafdomE 8 7 b @r&ie e

(e) 1 0 @ fEm &2 ¢ 1 6 @rene =G
60. 100 mL Bate 227 6.023 x 1020 b & SR | TG4BT 2SR THI1@Am ZLel-

(a) 0.0001 (b) 0.001 (c) 0.010 (d) 0.100 () 1.000
N
panope. dOOOW,  1000%FXM = 6.023x1020
A (c); € = MV ~ Mx100 10 % 6.023x1023 0.01
61. O3B AT YIGES wze RfFIT 0.72g *1fF @32 3.08g FEI-TIZ-SHZG TAF ¢ | YRAGFEA0L Fo1 AL
RLET- .
(a) CoH, (b) C3Hs (c) CsH, (d) CgHs (e) C;Hg

AT (e); CHy + (x +2) 0, - x €O, +2H,0

0.72 3.08

"H,0 = — = 0.04=4; "CO, = 5 =007 =7 ~ C/Hg
62. STP (S 22.4L H, 7T 11.2L Cl, sI5eoTa At ffEe St HCl =77 todt 31 2871 Bl HCl *719 @3 #ffew= ()
3% 337
(a) 0.5 (b) 0.75 (c) 1.0 (d) 1.5 (e) 2.0
ATLIE: (c); Hz(g) + Cly(g) — 2HCI(g)

limiting reagent = Cl, ; "Cl, = % = 0.5mol ~ "HCl= 1 mol

63. 80CC 0.1M Fe,(S0,); B¢ 1.0amp FITD a-l?rﬁi@ T AHA FeS0, 4 e T0e T GE=s 39y #Ae?
(a) 772 (b) 7720 (c) 1233 (d) 1544 (e) 15440
AN (a); nFe = 1 X t = =2-x 96500 X 1 = t = t = 7725

T s SSSEEEEEEEE e
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64.

65.

66.

67.

68.

69.

70.

71.

72.

73.

25°CorW1@ry 15mL 1.0M H,S0, @< 15mL 2.0M KOH %t Htd fifdre ot o w3t 2@ <41 =011 madiita
pH %7

(a) 4 (b) 5 (c) 6 (d) 7 (e) 8

TAH: (d); 15X 1 X 2 =15 X 2 == H,S0, 839 KOH B39 T F=jefaitl Mo zra | « pH = 7
Zn**|Zn|(—0.76V) €32 Fe?*|Fe|(—0.41V) Sfbeaaey ol e A=rsie &da emf 23-

(a) —1.17V (b) —0.35V (c) +0.35V (d) +1.17V (e) +1.12V

FAYS: (c); Zn/Zn** | Fe?* /Fe ; E.y = 0.76 — 0.41 = +0.35V

1 1

@n=1,1=0m =0, mg=+- ®n=11=1m =0, mg=+
(E)n=211=1,m1=0,m5=+§ (d)n=3;1=1; m1=01m5=+%

1
2

FAYF: (b); 1 93 T FEWT 0 (AF (n — 1) *1§F 27|

e)n=7,1=1, my =0, mg =+

A AAFINR 2A5FTS =6 T AGY 3 Wweq (mlL) “fmret st 792 [Ans:.c}
(a) 0.01 (b) 0.05 (c) 0.1 (d) 1.0 (e) 2.0
oR =i s v wee?
NH2 NH2>
(a) @ (b) @NO (c) CH3NH, (d) (CH3),NH | (e) (CH;3)3N
2 .
NH> NH;

qGI: (b); @ (pK; = 4.63) ; @ (pK,; = 2.47)
NO2

NO, 99 &) @A T e~ TG ST I | FT —NH, @7 lone pair e~ (& I 772 A |

RGN GO @3 a8 s 2GrTa IS AT 5.54 x 10~%erg a2 2.44 x 10~ erg | wOIT
*ETq e o *Ifesm Treahaf s 2 @ 1) el 0 or 7 (%) 7o 3?

(a) 8.73 x 10%3 (b) 7.99 x 1023 (c) 7.99 x 108 (d) 8.73 x 101¢ (e) 7.99 x 101°

AL (e); AE = 5.54 X 107*%crg — 2.44 x 10~ erg = 5.296 x 10 1%rg = 5.296 x 10~17]

-17
sE=hv=v= E = 5*2‘*"5"’;1“ = 7.99 x 10'6Hz

IR &Y 287 & @30 ITe F AF0o T1? [Ans: c]
(a) SAWE IFN (b) T TIHA *fE  (c) ©IRAE TS (d) T34 T (e) ST
430 IPTEfE fRferr St 200C UtE 45°C @ TR T RfeFe 29 w9 WiF “*fived Jfa «ma Rfemita

i *fera w9 () v za?

(a) 29.87 (b) 39.87 (c) 49.87 (d) 59.87 (e) 69.87

TAT: (€); InS = — 3.314E:1n-3 [45:2?3 - zn:z?a] = Ea = 49.87K]

&AFC ATF, In6 = *:a (_;1 — ,:2) A

(TS COITAS MBI fCHBITerd 799 Fewg @ Seow todt 23? [Ans: b]
(a) PbO, 8 H,0 (b) PbSO, € H,0  (c) Pb 8 H,0 (d) Pb @ H,S0, (e) Pb, Pb0O, 8 H,S0,

250 mL H;S0, 950mL “fTe TAFS 3 T &F walR =feva @efftee Rdw w21 [H,50, @@ g
= 1.98 g/ML]

(a) 2.66 M (b) 3.50 M (c) 4.55 M (d) 5.32 M (e) 6.45 M

AA: (d); € = S0 = — 22 =532M | W= 250 x 1.98g

R o (ST
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74. fAoE fAfea @ P @+

@ HNO3/H,S04 M Sn/HCI \ NaNO,/HCI(0-5°) . H,0/H* Heat

L

(a) Sifafer (b) FITAIANEH (c) AEFIHES @fre
(d) T (e) AFEH SRITHIFAN FR2C
N2Cl OH
wmﬂ:(d);ctz@ ;FE@ |
75. (M N0 AfFaa e G 2neql ArA? [Ans: d]
(a) D133 (b) @RIfoam (c) fSAI2e @F@IZT  (d) CQTFCARRA () A=A

A

76. I went there and found him reading”. What kind of sentence it is? [Ans: c]
(a) Simple (b) Complex (¢) Compound (d) Multiple (e) Double

77. Choose the feminine gender of “Sire” [Ans: c]
(a) Siress (b) Sirent (c) Dame (d) Dane (e) Sirent

78.  “This is the book of which I told you”. Here the word “which’ is used as- [Ans: €]
(a) Relative pronoun (b) Distributive pronoun (c) Reciprocal pronoun
(d) Reflexive pronoun (e) Demonstrative pronoun

79.  Fill up the blank space in the sentence “Students should the advice of their superiors”, by correct words from
the followings. [Ans: d]
(a) Go away (b) Go by (c) Go ahead (d) Go for (e) Go at

80. Choose the correct “Comment Tag” from the followings- [Ans: e]
(a) Anyone is allowed, is anyone? (b) Anyone 1s allowed, are anyone?
(c) Anyone is allowed, is not anyone? (d) Anyone is allowed, is he?
(e) Anyone is allowed, aren't they?

81. Choose the correct passive form of “They proposed to hold a meeting”. [Ans: b]
(a) A meeting was proposed to be held by them. (b) It was proposed by them to hold a meeting.
(c) A meeting to be held proposed by them. (d) A meeting to hold proposed by them.
(e) A meeting to be held they proposed.

82. Choose the correct preposition to fill the blank space in the sentence “Every mother yearns _____ her child”.
(a) to (b) of (c) with (d) for (e) by [Ans: d]

83. Which one is the correct active form of the sentence “You are expected to be faithful”? [Ans: a]
(a) I/We expect you to be faithful. (b) You expect to be faithful.
(c) You are expected faithful. (d) You are faithful that is expected.
(e) Your faithful is expected.

84. “Every man must die”. Here the word ‘every’ isused as____ [Ans: b]
(a) Demonstrative adjective (b) Distributive adjective (c) Possessive adjective
(d) Descriptive adjective (e) Numeral adjective

85. Select the correct narration of the sentence- The doctor said to him, “Take this medicine twice a day”, from the
following: [Ans: c]

(a) The doctor suggested him to take this medicine twice a day
(b) The doctor ordered him to take this medicine twice a day

(c) The'doctor advised him to take that medicine twice a day.

(d) The doctor requested to him to take that medicine twice a day.
(e) The doctor advised to him to take that medicine twice a day.

86. Translate of the sentence “You had better not go today” into Bengall. [Ans: C]
(a) BfT &% F123M ¢t | (b) COTIIE S& AT (TS HoT© |
(c) COTTE et 1 qredq 5% (d) oSt SI1% =1 5iTEe Arars |
(e) BN & =1 C5I7 ©IF T9 |

ﬂ.-"‘
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87.  Find out the correct conversion of the sentence “Had I the wings of a bird!” into Assertive. [Ans: €]
(a) If I had the wings of a bird. (b) I wish to had the wings of a bird.
(c) I pray, I had the wings of a bird. (d) I had the wings of a bird

(e) I wish I had the wings of a bird.

88. Translate “C ?Iﬁlﬁ@ﬁﬁ (&S AR into English. [Ans: b]

(a) He has perhaps resigned the post. (b) It seems he has left the post.
(c) If feels he left the post. (d) I presume he has resigned the post.
(e) It presumes he resigned from the job.

89.  Choose the correct masculine gender of “Spinster”. | [Ans: e]
(a) Gentle man (b) Horse (c) Tailor (d) Shepherd (e) Bachelor

90. Choose a synonym of the word “Remorse”. ' [Ans: e]
(a) Indignation (b) Honesty (c) Revenge (d) Duplicity (e) Regret

91.  Choose an appropriate preposition for the blank in the sentence “Virtue will prevail ___ evils one day”. [Ans: b]
(a) over (b) upon (c) on (d) with (e) to

92.  Choose the correct plural number of the word “Appendix”. [Ans: d]
(a) Appendum (b) Appendixes (c) Appendises (d) Appendices (e) Appendice

93. “We elected him captain”. Here the word “elected” is used as [Ans: €]
(a) Impersonal verb  (b) Reflexive verb  (c) Copulative verb (d) Causative verb  (e) Factitive verb

94.  Choose a suitable group verb for the blank in the sentence : We could not ____ the truth”. [Ans: ¢]
(a) get at (b) get in (c) getto (d) get with (e) get into

95. “The boy has been badly treated”. Here the word ‘badly’ is- [Ans: c]
(a) Intensifier (b) Adverb of manner . (c) Adverb of degree
(d) Adverb of purpose (e) Adverb of time

96.  Fill in hte blank with appropriate word in the sentence *“Would youmind ___  this work?” [Ans: c]
(a) todo (b) in doing (c) doing (d) to have (e) to finish

97.  Transform the sentence “She made a mistake and she admitted it” into simple sentence. [Ans: €]
(a) She admitted that she made a mistake. (b) She admitted that she had made a mistake.
(c) She admitted because she made a mistake. (d) She admitted because she did a mistake.
(e) She admitted her mistake.

98.  Which one is the correct superlative degree of the word “Evil™? [Ans: €]
(a) Baddest (b) Evilest (c) Most bad (d) Worst (e) Most evil

Read the following passage and give answer to the question nos. 99 and 100.
The history of civilization shows how man always has to choose between making the right and wrong use of the
discoveries of science. This has never been truer than in our own age. In a brief period amazing discoveries have
made and applied to practical purposes. It would be ungrateful not t recognize how immense the boons are which
science has given to mankind. It has brought within the reach of multitude benefits and advantages which only a short
time ago was the privilege of the few. It has shown how malnutrition hunger and disease can be overcome. It has not
only lengthened life but also deepened its quality. Fields of knowledge, experience and recreation open in the past
only to a few have been thrown open to millions. Through the work of science the ordinary man today has been given
the opportunity of a longer and fuller life than was ever possible to his grandparents. Most thankfully we must
acknowledge all that science has done and is doing for the welfare of our race.

99.  What does the history of civilization show? [Ans: €]
(a) How science contributes to the mankind.
(b) How human beings are benefited from science.
(¢) How discoveries have made and applied to practical purposes.
(d) How science has brought multitude benefits and advantages within the reach.
(¢) How the mankind always has to select between the right and wrong use of discoveries of science.

100. Choose the appropriate title of the passage from the followings: [Ans: c]
(a) Effect of science to mankind (b) Effect of science to human life
(c) Effect of science to civilization (d) Gift of science (e) Discoveries of science




